
Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts Location (1/4)

Seite 1 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts Location (2/4)

Seite 2 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts Location (3/4)

Seite 3 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts Location (4/4)

Seite 4 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Location of Lead Wiring

Seite 5 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Location of Heat Rubbers 
and AL Tape (1/3)

Seite 6 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Location of Heat Rubbers 
and AL Tape (2/3)

Seite 7 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Location of Heat Rubbers 
and AL Tape (3/3)

Seite 8 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Location of Felts (1/2)

Seite 9 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Location of Felts (2/2)

Seite 10 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Packing Structure

Seite 11 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts List

Change Safety
Ref.

No.
Part No. Part Name & Description Q'ty Remarks

1 BAT-C-0152 BATTERY COVER OF RC 1 PAVCCZ

2 K1HY05YY0303 USB CABLE 1 PAVCCZ

3 K2CL2YY00027 AC CORD 1 (TX-55FZ830E,TX-55FZW835) PAVCCZ

3 K2CR2YY00101 AC CORD (SWI) 1 (TX-55FZC835) PAVCCZ

4 L0EYBB000015 SPEAKER L 1 PAVCCZ

5 L0EYBB000016 SPEAKER R 1 PAVCCZ

6 N2QAYA000152 REMOTE CONTROL 1 PAVCCZ

7 N2QBYA000019 TOUCH PAD CONTROLLER 1 (TX-55FZC835,TX-55FZW835) PAVCCZ

8 N3ZZ00000031 USB DEMO MEMORY 1 PAVCCZ

9 N5HBZ0000120 WIFI DONGLE 1 PAVCCZ

10 N5HZZ0000186 BLUETOOTH DONGLE 1 PAVCCZ

11 TBL5ZA39981 PEDESTAL BASE PLATE 1 (TX-55FZC835,TX-55FZW835) PAVCCZ

11 TBL5ZA39982 PEDESTAL BASE PLATE 1 (TX-55FZ830E) PAVCCZ

12 TBL5ZA39991 NECK BASE 1 (TX-55FZC835,TX-55FZW835) PAVCCZ

12 TBL5ZA39992 NECK BASE 1 (TX-55FZ830E) PAVCCZ

13 TBL5ZB36871 STAND CABLE CLAMPER 1 PAVCCZ

14 TBL5ZG30471 RUBBER FOOT 4 PAVCCZ

15 TBL5ZG30581 RUBBER FOOT 4 PAVCCZ

16 TBL5ZX13151 STAND CABLE COVER ASSY 1 PAVCCZ

17 TBX5ZA05102 KEY BUTTON BRACKET 1 PAVCCZ

18 THEC1509 SCREW M3X5 BLACK 14 PAVCCZ

19 THEC349N SCREW M5X14 4 PAVCCZ

20 THEL153J SCREW M4X15 SEMS 2 PAVCCZ

21 THTD037J SCREW M3X10 BLACK 7 PAVCCZ

22 TKK5ZC50601 LED PANEL 1 PAVCCZ

23 TKP5ZA53601 LED PANEL CASE 1 PAVCCZ

24 TKP5ZA62701 BT BRACKET 1 PAVCCZ

25 TKP5ZA68308 SIDE AV BRACKET LAN 1 PAVCCZ

26 TKP5ZA74001 TERMINAL COVER 1 PAVCCZ

27 TKZ5ZE50031 REAR COVER FIXING METAL 2 PAVCCZ

28 TMK5ZX348 P-PCB BARRIER 1 PAVCCZ

29 TMM5ZX024-1 SCREW CAP 10 PAVCCZ

30 TPC0EA44301 CARTON BOTTOM 1 PAVCCZ

31 TPD0E14801 CUSHION TOP L 1 PAVCCZ

32 TPD0E14811 CUSHION TOP R 1 PAVCCZ

33 TPD0E24701 CUSHION BOTTOM C 1 PAVCCZ

34 TPD0E24741 CUSHION BOTTOM LR 1 PAVCCZ

35 TPD0E51661 CUSHION FRONT 1 PAVCCZ

36 TPD0E51701 CUSHION REAR 1 PAVCCZ

37 TPD0E51711 CUSHION SIDE L 1 PAVCCZ

38 TPD0E51721 CUSHION SIDE R 1 PAVCCZ

39 TPD0E80231 PAPER ANGLE L TYPE 2 PAVCCZ

40 TSCKF1060037 FFC (51PIN) 1 PAVCCZ

41 TSCKF1060038 FFC (41PIN) 1 PAVCCZ

42 TTU0E2286 BACK COVER COMPLETE 1 (TX-55FZ830E) PAVCCZ

42 TTU0E2288 BACK COVER COMPLETE 1 (TX-55FZC835) PAVCCZ

42 TTU0E2290 BACK COVER COMPLETE 1 (TX-55FZW835) PAVCCZ

43 TUC5ZC50632 HDMI SHIELD CASE 1 PAVCCZ

44 TUC5ZJ52551 HEATSINK A TOP FIN 1 PAVCCZ

45 TUC5ZJ52651 HEATSINK A-REAR 1 PAVCCZ

46 TUX5ZA1271 VERTICAL SUPPORT METAL L 1 PAVCCZ

47 TUX5ZA1281 VERTICAL SUPPORT METAL R 1 PAVCCZ

48 TUX5ZX1982 BOTTOM METAL 1 PAVCCZ

49 TXFBL01QTWE PEDESTAL ASSY 1
(TX-55FZC835,TX-55FZW835) (RTL) P

AVCCZ

49 TXFBL01UDWE PEDESTAL ASSY 1 (TX-55FZ830E) (RTL) PAVCCZ

50 TXFKP5Z0335 BOTTOM ORNAMENT ASSY 1 PAVCCZ

51 TXFPC01UEWE CARTON ASSY 1 PAVCCZ

52 TXFUX5Z0004 BOTTOM BASE METAL ASSY 1 PAVCCZ

53 TXJ/P5FRVJ P5-GK4 WIRE 1 PAVCCZ

54 TXJA02QSWE A02-P2/T-CON WIRE 1 PAVCCZ

55 TXJA10QUWE A10-K10/BT WIRE 1 PAVCCZ

Seite 12 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts List

Change Safety
Ref.

No.
Part No. Part Name & Description Q'ty Remarks

56 TXJA12QUWE A12-SP WIRE 1 PAVCCZ

57 TXJTCNQSWE P3-T-CON WIRE 1 PAVCCZ

58 TZTZL01QUWE OLED PANEL ASSY 1 PAVCCZ

59 XYN4+F12FJK SCREW M4X12 SEMS BLACK 2 PAVCCZ

60 XYN4+F15FJK SCREW M4X15 SEMS BLACK 4 PAVCCZ

R03UE/2SA BATTERY 2 (TX-55FZ830E) PAVCCZ

R03UE/2SA BATTERY 4 (TX-55FZC835,TX-55FZW835) PAVCCZ

THEC338J SCREW M4 STEP 2 PAVCCZ

THEJ036J SCREW M3X4.8 SILVER 36 PAVCCZ

THEJ056J SCREW M3X5 4 PAVCCZ

TMK4GX214 DOUBLE-SIDED ADHESIVE TAPE 1 PAVCCZ

TMME434 CLAMPER 2 PAVCCZ

TMME477 CABLE BAND 3 PAVCCZ

TMMX315 LATCH 4 PAVCCZ

TPDX0033 JOINT 4 PAVCCZ

TPE0E4139 SET BAG 1 PAVCCZ

TQB0E2842 PRODUCT INFORMATION SHEET 1 (TX-55FZ830E) PAVCCZ

TQB0E28428 INSTRUCTION BOOK (SLOVENIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842A INSTRUCTION BOOK (GERMAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842B INSTRUCTION BOOK (DUTCH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842C INSTRUCTION BOOK (ITALIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842D INSTRUCTION BOOK (FRENCH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842E INSTRUCTION BOOK (SPANISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842F INSTRUCTION BOOK (SWEDISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842G INSTRUCTION BOOK (NORWEGIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842H INSTRUCTION BOOK (FINNISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842I INSTRUCTION BOOK (LITHUANIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842J INSTRUCTION BOOK (PORTUGUESE) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842K INSTRUCTION BOOK (DANISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842M INSTRUCTION BOOK (BULGARIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842N INSTRUCTION BOOK (ROMANIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842O INSTRUCTION BOOK (LATVIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842P INSTRUCTION BOOK (POLISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842Q INSTRUCTION BOOK (HUNGARIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842R INSTRUCTION BOOK (CZECH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842S INSTRUCTION BOOK (GREEK) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842T INSTRUCTION BOOK (TURKISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842U INSTRUCTION BOOK (ENGLISH) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842V INSTRUCTION BOOK (CROATIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842W INSTRUCTION BOOK (SLOVAKIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2842Z INSTRUCTION BOOK (ESTONIAN) 1 (TX-55FZ830E) PAVCCZ

TQB0E2843 PRODUCT INFORMATION SHEET 1 (TX-55FZW835) PAVCCZ

TQB0E2843A INSTRUCTION BOOK (GERMAN) 1 (TX-55FZW835) PAVCCZ

TQB0E2843B INSTRUCTION BOOK (DUTCH) 1 (TX-55FZW835) PAVCCZ

TQB0E2843C INSTRUCTION BOOK (ITALIAN) 1 (TX-55FZW835) PAVCCZ

TQB0E2843D INSTRUCTION BOOK (FRENCH) 1 (TX-55FZW835) PAVCCZ

TQB0E2843L INSTRUCTION BOOK (RUSSIAN) 1 (TX-55FZW835) PAVCCZ

TQB0E2843U INSTRUCTION BOOK (ENGLISH) 1 (TX-55FZW835) PAVCCZ

TQB0E2844 PRODUCT INFORMATION SHEET 1 (TX-55FZC835) PAVCCZ

TQB0E2844A INSTRUCTION BOOK (GERMAN) 1 (TX-55FZC835) PAVCCZ

TQB0E2844B INSTRUCTION BOOK (DUTCH) 1 (TX-55FZC835) PAVCCZ

TQB0E2844C INSTRUCTION BOOK (ITALIAN) 1 (TX-55FZC835) PAVCCZ

TQB0E2844D INSTRUCTION BOOK (FRENCH) 1 (TX-55FZC835) PAVCCZ

TQB0E2844L INSTRUCTION BOOK (RUSSIAN) 1 (TX-55FZC835) PAVCCZ

TQB0E2844U INSTRUCTION BOOK (ENGLISH) 1 (TX-55FZC835) PAVCCZ

TQF0EA0001 ENERGY LABEL 1 PAVCCZ

TUC4GJ5045 HEATSINK 1 PAVCCZ

TUC4VJ50041 HEATSINK 1 PAVCCZ

TUC5ZJ51551 HEATSINK 2 PAVCCZ

TUC5ZJ52221A HEATSINK 2 PAVCCZ

XYN3+C6FJ SCREW M3X6 2 PAVCCZ

XYN3+C8FJ SCREW M3X8 10 PAVCCZ

Seite 13 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...



Model No. : TX-55FZ830E TX-55FZC835 TX-55FZW835 Parts List

Change Safety
Ref.

No.
Part No. Part Name & Description Q'ty Remarks

XYN4+F8FJ SCREW M4X8 SEMS SILVER 5 PAVCCZ

ALA01 TEWF483 AL TAPE(W10XL20XT0.05) 1 PAVCCZ

CA01 TMME474 SPACER A-PCB 1 PAVCCZ

CA02 TMME474 SPACER A-PCB 1 PAVCCZ

CA03 TMME474 SPACER A-PCB 1 PAVCCZ

CA04 TMME474 SPACER A-PCB 1 PAVCCZ

CA05 TMME474 SPACER A-PCB 1 PAVCCZ

CA06 TMME474 SPACER A-PCB 1 PAVCCZ

CA07 TMME474 SPACER A-PCB 1 PAVCCZ

CA08 TMME474 SPACER A-PCB 1 PAVCCZ

CK301 TMME272 CLAMPER 1 PAVCCZ

CK302 TMME268 CLAMPER 1 PAVCCZ

FA01 TMKK746 HEAT RUBBER (15X15XT1.0) 1 PAVCCZ

FA02 TMKK745 HEAT RUBBER (26X26XT1.0) 1 PAVCCZ

FA03 TMKK738 HEAT RUBBER (20X20XT2.5) 1 PAVCCZ

FA04 TMKK738 HEAT RUBBER (20X20XT2.5) 1 PAVCCZ

FA05 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA06 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA07 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA08 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA09 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA10 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA11 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA12 TMKK737 HEAT RUBBER (10X10XT2.5) 1 PAVCCZ

FA13 TMK4GG143 SPONGE FOR HEATSINK 1 PAVCCZ

FK301 TMK4GA300 FELT(15X5XT0.35) 1 PAVCCZ

FK302 TMK4GG017 SPONGE 1 PAVCCZ

FK303 TMK4GG017 SPONGE 1 PAVCCZ

FK304 TMK4GA301 FELT(8X25XT0.35) 1 PAVCCZ

Seite 14 von 14Print Parts List

03.09.2018https://tda.panasonic-europe-service.com/docs/2z5b8cee1fz2z3f92fz656...


